EARAROBEEIERT — 2 N— IBISH —F

201211818 (K) 16E&EE4H

m}zo)%”é‘ B6 7%—#% ‘ [Xfg] B ‘ [EmAE]  — | & (h) 14000 FE
[AE4£)] 1% :140,000 ™ ~ 2% :25000M”  33%&:10,000 "  4%&:7,00H ~ 5%&%:0MH
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A o5 | AEER 1:29.9 2-2-2-2 [39.6| — 1 457 | AEED (BHE)
1 2| 17x>7 56.0 oy oy | w77y
L:xrinMaO— B:avx+v5v b $#ME  IER
. = o5 > iip. :29. 44~ . — HEE (BHE)
2 gl IRy IZ1I> b *55% 1(,33? drdad | %88 s 2);) EH LT R
R:ya)—ANfA—- B:3I-LFTz 48— ke
N o DAEEFIGE : -3-3- - FHEE (BHE)
s . YR L—T % 5 o 1.(310>.1 3-3-3-3 | 39.3 6 (4_232) THEE (
R:ZRX v 2—YI—IWK BTATAEATF J—RH—-F
= 4 ses gy KA : 55— — AHES (BHE)
alzl 7| F5€v>413 o4 Py 1.73%_1 5-5-5-5 | 38.0 7 ;1238) il
RiFx v TFPRT 41— BiwAhk- AR
N N :30. -1-1- . - HFLE— (BHE)
511|715 0y 8- RN Ry~ S IR Rl 2o | mEEx
L:4>F4aAv K B:a-4L h7—F pisukie]
8 BRAE : —6-6- — BEORX (BB
6 3| b=FY T it 4 il 1.(341).2 6-6-6-6 | 38.6 5 (4_747) LS ( )
R:Z2=yYzlb B:h—FKIE—FZ me =A
7 NEE =R # o4 isufﬁ_ 1:(352>.2 8-8-8-7 |38.8| — | 4 | 445 i%ﬁ%;% (BEHE)
74NV KTy Y2 BiN—=F13I2h (#5) ZRE7 7 —L
—f o INLETT o 77— _ ] =3
glsl5| FN=REI8T4T # 5 | DU (;is;;s) 7-7-7-8 | 42.8 8 go) ;1%\ (BEE)
RiR—>F%>Fd B:IU=a1X Trp=Z—kElLNTp—L
® I —F—@EBIERL
1a—74— 1,2,4,8,7,3,5,6
Aol=5r= 1,2,4,8,7,3,5,6
30—7+— 1,2,4,8,7,3,5,6
43—+ — 1,2,4,8,7,3,6,5
[ RN
B OB 2 1609 714K 2-8 370M B E 2-8 980M &R 2-4-8 3,780
7 B 2 130 2-4 MM | | B 2-8 1,400/ | | 3=& 2-8-4 8,470M
8 310H 4-8 1,780H
4 690M

ABICOVWTRDTEEERROODE. TR LIV,




